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ARl & FRiel MIE  ARBESQ = JIYEskrEAER
ol S oae | D55 | 32
‘= (|
47,508,558 | 48,283,712| 775,154
600 Afeal 18,507,594| 19,218212| 710,618
610 FYPe 17,952,479| 18,664,783| A712,304
611 AR 17,760,985 18,505,030| A744,045
02 71HEBIAEAR2 4,419256| 4,863,491| A444,235
O 714g 4,419,256
odPrER 26891 x 16,440,296= = 4,405,999
oletpE 3409 x  38,993& = 13,257
06 UBESIrTAIER 9,541,005| 9,883,756| ~A342,751
O Yurg 9,541,005
0 HeER 1,1299 x 7,220,379€ = 8,151,807
o Alstrg 1,6309 x 852,2695 = 1,389,198
08 CISYESIT=AEZ 1,147,444 1,132,630 14,814
O C=Er 1,147,444
0 MPER 1,018% x 317,580 = 323,296
o et 9129 x 903,672 = 824,148
10 AiLUSASSITEARE 2,653,280 2,625,153 28,127
O tAE 186,909
o kg 1802 x 106,464% = 19,163
o et 5239 x 320,739% = 167,746
O 3%g 2,466,371
0 kg 738 x 802,686% = 58,596
o et 739 x 32,983,227€ = 2,407,775
661 7[ElEES 191,494 159,753 31,741
03 7lerrzEeY 86,494 69,753 16,741
O BapAxe| = 2,010 x3,5860 x 12¥ = 86,494
09 7lElEESY 105,000 90,000 15,000
O slesiR| dZ2A2| 2LE(R71Y 2 ol 4~
35,0008 x 250 x 12€ = 105,000
670 FYels 555,115 553,429 1,686
671 O|Al2 500,000 500,000 0
01 oilZo=tY 500,000 500,000 0
3302 o2ty 500,000,0009 x 14| = 500,000
679 7IEtS iRl 25,115 23,429 1,686
01 7[Elcisy 13,315 12,229 1,086
O EZ| & 3Rt Aok 13,315,8009 x 14 = 13,315
02 Ychae|y 1,800 1,200 600
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O skeel3U dote: 2 IS0 TE ABE Y
150,000 x 12€ = 1,800
03 =&2014+Y 10,000 10,000
O HzUEFE & S AETR0E 5) =85 i+
5,000,000& x 23| = 10,000
681 7|&eHolY 30,000 30,000
01 7[2fe30|9 30,000 30,000
O 2025 O] AN stig = 30,000,0008 x 14| = 30,000




[ Skeeat ] (Tl - )
o 2REASe & AEU0IFeY ME AMEEESY 5 APEEISY
F =2
i aae | 295 | =3
100 Zp2A4 29,000,964 | 29,065,500 64,536
170 2H2Ydoiz4y 27,800,964 | 27,865,500 64,536
171 AERE24Y 4,100,964| 1,595,000 2,505,964
01 AE2Ea4Y 4,100,964| 1,595,000 2,505,964
O stexfe|Ald eiziedz 4,100,964,770% x 14l = 4,100,964
173 ERAHEEZRISY 23,700,000 26,270,500| ~2,570,500
01 =1E2ISY 22,580,000| 22,894,000|  A314,000
O 2005 SteA ZH| BTLAIY Qchz 2H|22Z
2,439,000,0009 x 14| = 2,439,000
O 20084 ot FH| BTLAIY UChz IHIRZF
2,400,000,000% x 1 A = 2,400,000
O Ol sirxfals 2olg QIZHSAIAIY(BTO) =HE2F
15,293,000,000% x 1 4] = 15,293,000
O ZSAF otpEdH| SHR2IRY FHAY JH|EZRF
2,448,000,0009 x 14| = 2,448,000
02 ERAHgEEzEsY 1,120,000 3,030,000/ 21,910,000
O 5 H & HAAIY UBteA 2|z 320,000,0009 x 14/ = 320,000
O SIrEAASEHS|A| AIGOIA 2|2d= 800,000,0009 x 141 = 800,000
03 AlzHEZZ4Y 0 346,500| 346,500
180 RE22 1,200,000 1,200,000 0
181 &MAYoiZ 1,000,000 1,000,000 0
01 aMALNZ 1,000,000 1,000,000 0
O aMAdNz +¢ 1,000,000,0008 x 14/ = 1,000,000
182 Oz 200,000 200,000 0
01 Yoz 200,000 200,000 0
O HE strEAEE O18g4Y 200,000,00094 x 14/ = 200,000






